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Unit 2 Review

- Solve each quadratic equation by taking square roots. Tell whether each solution is real or imaginary.

Give exact answers. When necessary, express answers in simplified radical form.
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For 8-9, use the modeHi(t) ho 1682, Raund answers to the nearest tenth.

8. A bridge is 38 feet above A TIVEr. wamany seconds does it take a rock dropped from the bridge

to pass by a tree limb that is 10 feet above the water'?

9. A seagull drops a fish 15 feet above the surface of a pond How long will it take for the fish to hit
the water?




Lesson 3.2

~ Perform each operation. State the most specific set the answer belongs to; real, imaginary, or
complex.
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Solve each equation by completing the square. State Whethér"fhé solutions are real or non-real.

14.x2—2x+7=0 15.2x> +3x+4=0

The ball’s height h (in meters) at time t (in seconds) can be modeled by the quadratic function
h(t) = —4.9t% + 14t + 2. Does the ball reach a height of 12 m? Write an equation and use the discriminant to
answer.
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Solve each equation using the quadratic formula, x = Z2E¥P—tac ': —tac
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Graph each circle after writing the equation in Standard Form. Identify its center and radius.
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N represented by the equation y=mterail. Find the(ﬁﬁmhere the rocket and the flare.intersect,

Solve the given linear-quadratic system graphically.
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rocket is launched from the gmund and follows a parabolic path represented by the equation
“ES®. Atthe same time, a flare is launched from a height of 10 feet and follows a stra.tgh@
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s% -6x—6y =6 ,(f\gr'{;‘-\i
2940 x=-2z+7 X sOU Dz w7 28.

S ' .;z?%g ~Ax + 3y + 2z = 18
{ 3x+ 3y + 2z =18
3x—3y+3z=27 2




19. Use the graph below to answer the following questions. The graph of the quadratic function f(x) =
{0 ﬁéc + bx + ¢ _intersects the y-axis at a point A (0 6) and has its vertex at point B (4 -2).
5 #,

{a) Ca!culate the values of b and c.
{b} Write the equation in factored form.
m Find the x-intercept(s) of the graph.
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